Subject: Re: | need help constructing a variable in Stata
Posted by gafap on Thu, 14 Sep 2017 14:50:57 GMT

View Forum Message <> Reply to Message

Dear Bridgette,

Maybe | got confused, but in your answer you say that "For the second birth, the cmc of birth is

b3 02". As far as | can understand, b3_02 is the time of birth for the second to last birth, but not to
the second birth for the mother (where first-child is the first one and so on). Furthermore, see
explanation here

https://userforum.dhsprogram.com/index.php?t=tree&goto=1 3065&#page_top

Which one is correct?
And if this is correct, then how do you calculate age at second birth?

thanks!
g

Page 1 of 1 ---- Generated from The DHS Program User Forum


https://userforum.dhsprogram.com/index.php?t=usrinfo&id=4740
https://userforum.dhsprogram.com/index.php?t=rview&th=51&goto=13066#msg_13066
https://userforum.dhsprogram.com/index.php?t=post&reply_to=13066
https://userforum.dhsprogram.com/index.php

